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Section A : (25 x 2 marks }

For each question, four options are given. Choose the most suitable option

and shade your answer in the Optical Answer Sheet (OAS) provided.

What do these living things have in common?

ﬁgﬁg % 2

bacteria yeast

A: They are very tiny.

B: They can make their own food,

C: They can be found in the same place

D: They can only be seen using a microscope.

(1)AandC
(2)Aand D
(3)CandD
(4) All of the above

2. Study the four pictures of different types of birds. They have been dlassified
according to.certain characteristics, X Y,A B, CandD.

‘Beaks of birds

Which of the following shows the characteristics of Y and A accurately?

Y A
(1) | With siraight beaks Beak is longer than the length of head
(2) | With curved beaks With straight beaks
(3) | With curved beaks Beak is shorter than the length of head
(4) | Beak is shorter than the length of | With curved beaks
head :
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3. Plants do not take in food because they

(1)} feed on sunlight
(2) have chlorophyli
(3) do not need food
(4) make their own food

4. Ptlants cannot make food at night because

(1) they are at rest

(2) there is no water

(3) there is no sunlight

(4) there is no carbon dioxide

9. At which stage(s) does/do a mosquito have to stay in water?

A: Egg

B: Larva
C: Pupa
N Adult

(1) Aonly

(2) D only
(3)Aand B
(4)A,Band C

6. Larry bought a pair of hamsters. He placed the male and female hamsters in a
cage. Two months later, he had a total of nine hamsters in the cage. What
characteristic of a living thing does this show? )

(1) Living things grow

(2) Living things move

(3} Living things reproduce

{4) Living things respond to changes

7. Which example cormectly demonstrates the specified characteristic of a living
thing? '

*Characteristic Example

(1) | Ability to reproduce | The shoot of a plant growing
upwards.

(2) | Abifity to grow Baby Jim puts on 2kg from the

time .he was bom.

(3) | Ability to move The leaves of a halsam plant
| move when the wind blows.

(4) | Need for water A dry shower sponge soaks up
waler.
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water. It carries a small supply of

8. This animal can live both on {and and in
d long periods out of water. This

water in its gill chamber in order to spen
animal is afan.

(1) fish because it has gills -

(2) fish because it can live in water

(3) insect because it is small in size

4) mammal because it can live on land

9. The diagram below shows the pupa of a butterily.

Although the pupa always remains still and does not show any activity, it is a

living thing. This is because

(1) it can change in size

(2) it can change in length

(3) it can develop into a butterily

(4) it can change the colour of its case

gs from the supermarket and placed them in an

10. Tom bought some chicken eg
s did not hatch. What

incubator. He waited for-more than 21 days but the egg
could be the reason? )

(1) The incubator was not warm enough.

(2) The chicks need more than 21 days to grow, and develop.’

(3) The eggs were not feriilised and only fertilised eggs will hatch.
(4) The egg shells were too hard for the chicks to break out of them.
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For questions 11 and 12, refer to the experiment below. Study the experimental set-
up carefully.

Beaker X

11. Which of the following statements is true?

(1) Only the fish in Beaker X need afr.

(2) The fish in Beaker X and Beaker Y will eat the oil.

(3) The fish in Beaker X will die faster than those in Beaker Y

(4) The fish in Beaker X and Beaker Y will swim to the hase of the heaker.

12. To make this a fair experiment, which of the following must be kept the same?

A: The amount of-oil.

B: The number of fish.

C: The amount of water.
D: The presgnce of plants.

(1)A, Band C only
(2)A, B and D only
(3)A. C and D only
(4)A,B,Cand D

P3 Science SAZ 2013 —-Page b




13.

Study the flow chart below.

Parts of a seed

Jt p_-rovid&'i food
fordhe seedling

#°° It Helps to take
* in water aod
“ minerl salts

he

Tt will eventuathy:

belp to make

“food for the
seediing

Which of the fallowing identifies the parts of a seed correctly?

A B c D
(1) Root leaves 'Seed coat | Seed leaves |
(2) | Seed leaves Root Leaves Seed coat
(3) | Seedcoat | Seed leaves Root Leaves
4) Leaves Seed coat | Seed leaves Root
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14. A group of giris did an experiment. They placed some green bean seeds on

the wet cotton as shown below and placed the experimental setup in the

cupboard.

Wet cotton wool

Green-beans
N/

Three days later, they made the following statements after they have observed
the seeds.

Christy: The seeds get their food from the cotton wool.

Danielle: One of the seeds did not grow because it may be dead.

Michelle: The seeds do not require sunlight to germinate.

Taline: The seedlings will grow faster if the room temperature is lower.

Whose statements were incorrect?

(1)
)
3)
(4)

Christy and Taline
Christy and Michelle
Danielte and Christy
Danielle and Taline
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15.  Sheri-anne bought four pots of the same plant as shown below.

Which pot of plant will be the first to bear fruits?

(M w
@ X
@Y
4 Z

. 16.  Priscilla was given two objects. She recorded her observations in the table

below.

: ObjectP Object Q
Waterproof Yes | Yes
Breaks easily No - Yes
Good conductor of heat . Yes B No

Which of the following comectly shows the maferials of Object P and Object Q7

Object P - Object Q
0} Rubber Wood
(2) ' Plastic _ Metal
(3) | Ceramic : Paper
(4) Metal Glass
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17.  Glass is used as the material for the windscreen of cars. This is because it is

(1)
(@)
(3)
(4)

hard

trittle
flexible

transparent

18. Gemmaine wanted to string some beads together to make bracelets for her

friends as shown in Diagram A.

Diagram B

However, she does not know the wrist size of all her friends. What material

could she use to string the beads {Diagram B) so that the braceiets she makes

can fit all her friends’ wrists?

1
(2)
)
(4)

Metal
Nylon
Cotton
Rubber
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“The picture below shows a slide in the playground.

The slide is made of metal. There is a certain property that enables children to
slide down it easily. Which property is it?

(1)  itdoes not rust.
(2) Itis waterproof.
(3) it has a-smooth surface.

(4) It is resistant to scratches.
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20.

Study the diagram carefully.

§ N +———— Bar magnet

Setup —

~ Iron filings

Foursimiiar iron nails, D, E, F and G were attracted to the bar magnet as
shown in the diagram above. Michelie lowered the set-up into the tray of iron
filings until the tips of the iron nails touched.the bottom of the tray before
returning the set-up to its uriginal position. Which'of the iron nails atiracted the
most iron filings?

(1) DandE
2) EandF
3) FandG
(4) Dand G
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21.  Study the diagram below.

Q

P R

S

it shows the arangement of four bar magnets with some.of the poles labelled

asP,Q,Rand S.

Which of the following identifies P, Q, R and S correctly?

P Q R S
(N North . quth- North South
2) North South North 1 North
(3) South South North South |
(4) | South North North South

22. A group of friends saw five objects on the table. They placed a bar magnet
near the objects. Only three of the objects were attracted to the magnet,

What could the three objects be made of?

(1)  tron, copper and.gold

(2) Steel, nicke! and.cobalt
(3) Cobalt, steet and copper
{(4) lron, steel and aluminium
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23. Stephanie siroked an iron nail with two bar magnets in the directions.as

indicated in the diagram below.

TN

s

\:&N

<

Iron nail

Point A

PointB

Which of the following statement(s) is/are true about the experiment?

o=

(1)
(2)
@)
(4)

Point A will becorne the south pole.
Point A will become the north pole.
Point B will become the south pole.
Point B will become the north pole.

B only
D only
A and D only
B and C only
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24. Tammy wanted fo find out if the number of turns of the wire would affect the
strength of the electromagnet. Which experimental set-ups should she use to
cammy out the experiment correctly?

12 turns
Steet Iron?' I
rod . .
i e
A B

st [ | o |
-d | 1| #®d
C D

(1) AandBonly
(2) AandConly
(3) BandConly
(4) Cand D.only
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25. Three boys made the following statements.

Nicholas: We can use magnets to tell directions.
. ‘Ryan: Magnets can sort metals from non-metals.

Lionel: Magnets are used in the speakers of radios and handphones.
Who were the boys who made the comect statements?
1) Ryan and Lionel

Nicholas and Ryarn
Lionel and Nicholas

e S i,
e

Nicholas, Ryan and Lionel
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Section B : { 40 marks )

Write the answers in the blanks provided.

26.  Study the picture below which shows a section of a public park.

{a) Classify the things that have been labelled in the picture into Jiving énd non- living
things in the classiﬁcgtion diagram below.

Things In The Park

Living Things

-Non-living Thinqs
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(by

{c)

27.

(@

{b)

©

If the dragonfly and frog in the picture were to be placed separately in a small
airtight botile for one day, what would happen to them? Explain why. {1 mark)

| Identify the two things in the classification diagram that were once alive. _

(tmarik)

The picture below shows a platypus. .

A platypus has a duck-like beak and lays eggs. Why is it ot classified as a bird?
{1 mark)

Which group does it belong to? (1mark)

Name another animal that belongs to the same group as the platypus which lays
eggs as well, ' {1mark)
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28. The diaga.'am below shows the stages of the life cycle of a frog. Fill in the blanks (i)

and (if) with the correct word. {1 mark)
(a)
(i)
(The Young)
0] Adult Frog
(b) State {wedifferences between the young and the adult frog. (2 marks)
29. Study the graph below.
Nurnber of hours 6;- —
the food will
remain fresh ST
44—
3+ -4~} H—
o
1 .
10715 20 '25 30 3s Temperature (°C)

(2) = Atwhat temperature should the food be kept so that it remains fresh for four hours?
(1 mark}
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(b)  If food is kept at 25°C since 9 a.m., when will it no longer be fresh? (1 mark)

30.  Group the foltowing animals in the correct colum., (2 marks)

Fruit Fly Moth Praying Mantis Bee

3-stage life cycle 4-stage life cycle

31.  The life cycle diagrams of two insects are shown below in (a) and {b). Fill in the

blanks by naming the young of these insects in the blanks provided.

2 marks)
(a)

(The young)

Eag : Cockroach
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(b)

Egg

Mosquitc

{Larval Stage)

Pupa

32. The pictures shown below are some organisms found in'the forest. .

-Staghom fem Mushroom Puff ball Bracket fungus

{a). Which one of the above organisms cannot be Qrouped with the others?
(1 mark)

(3)] ‘_.St_a;te_a, reason to suf::port your answer in (a). (1 mark)
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33.

(@)

(b

{©)

()

(&)

The pictures show the different stages of growth of a bean plant.

Arrange the stages A, B, C and D'in the correct order in the boxes provided.

{1 mark)

—> —> — B
Which part of the plant grows first? {1 mark)
At which stage, A, B, Cor D, is photosynthesis able to occur? {1mark)
Refer to the picture in Stage B. Whatis X and what will happen to it? (1mark)
What are the conditions necessary forthe ﬂeed to germinate? (1 r}xark)
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34. Study the pictures carefully.

Raincoat- Water bottle

{a) Xand Y are made of the same material. What is the material? {1 mark)

(b) Although X and Y are made of the same material, they have c'ﬁfferent propetties.

State one difference in their properties. Do not include transparency of the material
in your answer. {1 mark)

35. Olivia carried out an exper.i‘ment as shown below.

— fabrie surip

stand

eotoured
water

She placed four fabric strips, E, F. G and H of equal length and width on a stand.
The ends of the fabric strips were immersed in the dish of coloured water. '

{a) What was Olivia trying to find out in this experiment? {1 mark}
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(b) Olivia cartied out the experiment for 1 hour and she observed that the coloured
water travelied up the fabric strips as indicated by the shaded parts in the diagram
below, ,

Based on her results, answer the following questions.

Which fabric, E, F, G or H is most suitable to make:
» a towel?
()  araincoat

0 . (1.mark)
(i) (1 mark)

{¢) Why is it important for Olivia to ensure that each fabric strip is of equal lengih and
width? {1 mark)
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36. WMrs Lim hung five objects on a pole as shown below.

[\ I \ X

I\ [ A v

[ \ / \ \

| \ ! \ \

] \ / \ \

i Y / \ \

| ! \ ‘

A B C D E
(8) Identify the objects which are definitely magnets. (2 marks)
(b) Explain why they are definitely magnets2 {1 mark)
37. A magnet was tied to the car as shown in the diagram below.

A
magnet

(a) Hazel wants to move the ear forward in the dii'edion.siﬁown by using another bar
magnet, Which pole of the bar magnet should A be? (1 mark)

() One week later, Hazel tried to move the car again with the same bar magnet.
However, the car did not move. Give one reason to explain why the bar magnet
could have lost its magnetism. {1 mark)
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38. Terri tried to make a temporary magnet by seiting up the experiment as shown
below.

Steel nail
Battery
& lron paper clip
She observed that the iron paper clip was not attracted to the steel nail.

List two things Terri could do to improve on her set-up. (2 marks)

39. The picture below shows a Maglev train or bullet train. it operates .without wheels
and uses magnefism to lift the trin up from the ground so that it ‘can travel at a high
speed

(8) What is the property of magnets that enables the tram to be lifted up from the
ground? . (1 mark)

(b) Name one kitchen appliance which uses the magnet. (1 mark)

-End of paper-
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Section B
Q26
a) Thing in the park
[ l |

Living things Non — living things

Tree ) Lamp — post

Dragonfly Stones

Plant Wooden bench

frog Dried twigs

b) They would die

c¢) Dried twigs and wooden bench

Q27

a) It has fur covering its body, not feathers

b) Mammals

c) Echidnas / Spiny anteater
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Q28
) ii) tadpole

A

Adult frog

i) eqg

b) The adult frog is able to live outside water, the tadpole is unable to
The aduit frog has legs but no tail, the tadpole has a tail but no legs

Q29
a) 20°C
b) 12:00pm

Q30

3 stage life cycle 4 stage life cycle

Praying mantis Moth
Fruit Fly
Bee

Q31
a) nymph
b) wriggler

Q32
a) Staghorn Fern
b) Staghorn fern is a plant not a fungus

Q33

a)C>A->D>B

b) roots

Cc)B

d) Seed leaves. They will shrivel up and fall of the plant once they die.
€) Warmth, water and air

Q34

a) Plastic
b) X is flexible while Y is hard
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Q35
a) The absorbency of each fabric
b)i) G

i) H

c) to ensure that the experiment is fair and the results afe accurate

Q36
a)C, DandE
b) They repel each other

Q37
a) North pole
b) It might have been dropped

Q38
She could use more batteries and increase the number of coils on the steel nail.

Q39
a) Like poles repel
b) Refrigerator
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